Find the value of each variable.

(o)
4. Xc% S.
“ 110°
\ 17¢°

Find each indicated measure for ©0.
o
13.a.mza =90 gmee =490
o]
b.msB=%0"  dymLD = 100
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Inscribed Angles

Identify 3 inscribed angles and their corresponded intercepted arcs
{2 1. inscribed angle intercepted arc

2. inscribed angle intercepted arc

3. inscribed angle intercepted arc

Given the following information, idéntify the corresponded part.

A
<ABC, intercepted arc
Arc BD, inscribed angle
B D
e
G
F ~T
Arc FG, inscribed angle
" <EFI, intercepted arc
1

<ABC, intercepted arc
Arc BCD, inscribed angle
Arc AB, inscribed angle
<ACD, intercepted arc

L
¥
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Inscribed Angles

Identify 3 inscribed angles and their corresponded intercepted arcs AN\

1. inscribed angle ZED/\} intercepted arc E'/\}
e

2. inscribed angle Lo(E intercepted arc D E

')
N

. ] AV Y; .
3. inscribed angle‘“'mf@w intercepted arc _U &

* 0ot possible answers™

Given the following information, identify the corresponded part.

N

A 2
<ABC, intercepted arc _/¢r &

Arc BD, inscribed angle L %AD

Arc FG, inscribed angle L FI &
V'

=
=1

<EFl, intercepted arc ___ 7.

VS
<ABC, intercepted arc ADC

. A
> AN
=Yag?

Arc BCD, inscribed angle VA

Arc'AB, inscribed angle i A C B

<ACD, intercepted arc __ [\ |

olve for the missing arc measure or angle measure.

[
m AP LM , .
BB |00, nemwi= 0" 1. M= | L0° ma= 44 = 1712
N\

i ..:—_LN—

VA

QU » 4

ARy
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Based on the triangle above, which statement is frue?

ceuder Yan b O\CQ“\'Q'( Yhan

If the radius of the circle is 3cm, what is the length of arc AD?

_, L= “’o A ()

2. If m<SOT =110°, What is m<SRT?
0
\\
S A
“ o
\oF
] “1o X
4 .r
3
R
3.
2t
Aa>b>c
B.a>c>d
Cb>c>a
D.&>a>c
4
L. 8. ¢
30

| = %.éw
L= 5.;2"‘ cm
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Geometry Worksheet Name, }( e\'/

Arc Length, Sector Area, Segment Area Date, Period

Find the shaded area. On problems 1-3, find the arc length for the shaded sector also.

1. Asector = ._l_l_3_'ua__. 2. Asector = Ll 6 I‘ « ua 3. Asector = %' q ua
Arc length = 129 w Arc length = I 13, q« e Arc length = _‘:LIQ_&

¢ 92

7. If BC = 2AB, what fraction of the circle is shaded? (Hint: Let the AB=2x. Dis the center of the big
circle. AB is the diameter of a little circle and BC is the diameter of a medium circle. Find the areas in

_terms of x.) /):*a\ ;LN'&\ ya Lz.n‘é Geele ‘ﬂ'(3x)q: Qx’*ﬂ‘ L“-"‘A&*'S"‘o’“c (,C\'L‘a

C<eHxtr=2) o a - A
@/_/ a %"'U ..C‘((_)e = ig%_ﬂ' ™ _LLS‘X__Q_{L M(/Aﬂn\a
AR= AA (=% - "{.5;‘\1’%.55
o ony Aen £ el Cide: 20 AP | ;
K.(, =bx € Ix) Z y o} X T
i i-f = e | 4.5 ok
s of small Cinley D= ¥ 3

$&m§-(_ :-5)(“11-

8. Find the degree measure of the arc of a sector with area 36w if the area of the circle is 144.

e =X T w ) X 7, @
= B/G'L—-—— ,_@ !{ <~ 360 # —>

bl Ui AT

9. Two circles have radii 3 ¢cm. and 5 cm. Find the 10. The areas of two circles are in the ratio\16 10.9.

ratio of their areas. ¥ i Find the ratio of their radii. ¥ ],
Qe ; 5w e

925 Hi5




Name:

Topic: Tangents and circle-UWorksheet T

Date

Given 0J, KL Find JK
JKisat &
is a angenJ 2 o & Sq'z__q:o. . es - %06
/K 2. |5, 2 XY lg1=3
Jo%1* = {35 2.5.92
3|7, 5

Segments shown are tangents

Given JK,KL and NM Find LM
J 4 | 425 7
5- 2,59 | 4
K N
L M 6 | 2,87 029
| 44— |

Find value of the variable

Given XY and OZ, are
5 and 3-

352 :J?"\ 8

=3
yé’ég

0J=2, JG is diameter, radius =
9- JK=3, 70- 71,
OK=5 PG=20,JP=30
Is K a Is GP a tangent?
/bahgent?

d /A\:ﬁ\
(U2 G

i Tons of Free Math Worksheets at: © www.mathworksheetsland.com




